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Worksheets

Worksheet 1

	 1.	 Fill in the blanks.
		  a.	 The repeated subtraction of the same number is called ……………………..
		  b.	 If a number is divided by itself, the answer is ……………………..
		  c.	 0 divided by any number except …………………….. is zero.
		  d.	 Any number divided by …………………….. is the number itself.
		  e.	 The number that we divide by is called the ……………………..

	 2.	 Divide by repeated subtraction.
		  a.	 18 ÷ 3 = ……………………..	 b.	 16 ÷ 4 = ……………………..
		  c.	 12 ÷ 2 = ……………………..	 d.	 15 ÷ 5 = ……………………..
		  e.	 24 ÷ 6 = ……………………..

	 3.	 Divide into groups of 2.

		     

		     

	 4.	 Divide on the number line and form the division statement.

		  0 3 6 9 12 15 18 21 24

		  24 ÷ ………… = …………

	 5.	 Divide on the number line and complete the division statement.

		  0 3 6 9 12 15 18 21 24

		  21 ÷ 7 = …………

	 6.	 Fill in the blanks.
		  a.	 0 ÷ 25 = ……………..	 b.	 38 ÷ 1 = ……………..
		  c.	 45 ÷ …………….. = 1	 d.	 72 ÷ …………….. = 72
		  e.	 15 ÷ 15 = ……………….

6 ÷ 2 = …………….
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	 7.	 Find the half of the following numbers.

		  a.	 48 ÷ 2 = ………………..	 b.	 36 ÷ 2 = ………………..

		  c.	 24 ÷ 2 = ………………..	 d.	 82 ÷ 2 = ………………..

		  e.	 66 ÷ 2 = ………………..

	 8.	 Choose the correct option and fill in the blanks.

		  a.	� Tommy has 30 grapes. He wants to divide them among his 5 friends. Each 
friend will get …………………….. grapes ( i. 7 ii. 3 iii. 6 iv. 5 v. 4)

		  b.	� Megha has 28 lollipops to share equally among her friends. If she has 7 friends, 
each friend will get ……………… lollipops. ( i. 7 ii. 3 iii. 9 iv. 5 v. 4)

		  c.	� Chintoo collected 48 mangoes from the mango orchard. He gave 6 
mangoes to each family member. He has ……… members in his family.  
( i. 7 ii. 8 iii. 6 iv. 5 v. 4)

Worksheet 2

	 1.	 Divide into equal groups as instructed.

		  a.	                

			   9 ÷ 3 = ………….

		  b.	              

			   24 ÷ 6 = ………….

		  c.	                    

			                    

			   21 ÷ 7 = ………….

		  d.	                  

			              

			   16 ÷ 4 = ………….
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	 2.	 Divide on the number line.
		  a.	

20 30 40 50 60 70 80 90 100100

			   70 ÷ 10 = ………….
		  b.	

20 30 40 50 60 70 80 90 100100

			   90 ÷ 10 = ………….

		  c.	

20 30 40 50 60 70 80 90 100100

			   60 ÷ 10 = ………….

	 3.	 Anil had 15 video games. He wanted to share them with his 3 friends. How many 
video games would each one get?

  Answers to Worksheet 1
	 1.	 a.  division	 b.  1	 c.  0	 d.  1	 e.  dividend
	 2.	 a.  6	 b.  4	 c.  6	 d.  3	 e.  4
	 3.	 3	 4.  3;8	 5.  3
	 6.	 a.  0	 b.  38	 c.  45	 d.  1	 e.  1
	 7.	 a.  24	 b.  18	 c.  12	 d.  41	 e.  33
	 8.	 a.  iii.6	 b.  v.4	 c.  ii.8

Answers to Worksheet 2
	 1.	 a.  3	 b.  4	 c.  3	 d.  4
	 2.	 a.  7	 b.  9	 c.  6	 3.  5 video games




